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The table compares two cars of similar size and power that run on different fuels.

	
	Petrol car
	Diesel car

	New car price
	£19 100
	£21 090

	Fuel use
	10 miles per litre
	13 miles per litre

	Estimated running cost for 3 years
	£15 964
	£15 300


1 a
Which is the more expensive car to buy? 


b
Which car costs the least to run over 3 years? 

c
Which car uses the least fuel when driving? 

d
Explain how you chose your answer to part c. 


2 Carbon dioxide is released when petrol and diesel burn. Carbon dioxide is linked to global warming.

a What do we mean by ‘global warming’?

b Describe one effect that global warming might have.

c Use your answer to Question 1c to identify which car might be chosen by someone who is concerned about global warming. Explain your answer.

3 Some people choose to drive cars that run on electric batteries. The batteries are charged by plugging them in to the mains electricity supply. When the car drives no fuel is burnt.

d How does driving an electric car help the environment?

e Electricity is generated in power stations. Most UK power stations burn fossil fuels. 
Explain why driving an electric car is not as environmentally friendly as it might first seem.

I can…
· state the meaning of global warming and describe some of its effects

· explain how some human activities affect carbon dioxide emissions.
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